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QUESTION 1

What two binding types are supported by Information Services Director (ISD) for a parallel job that is designed to be
used as a service? (Choose two.)

A.EJB
B. SQL

C. HDFS

D. SOAP

E. STREAMS

Correct Answer: AD

QUESTION 2

Each row contains the CustID, ProductID, ProductType and TotalAmount columns. You want to retain the record with
the largest value in the TotalAmount column for each CustIiD and ProductType using a RemoveDuplicates stage. How
can this be accomplished?

A. Hash-patrtition on CustID. Sort on CustID, ProductType and TotalAmount.

B. Hash-partition on TotalAmount. Sort on CustID, ProductType and TotalAmount.

C. Hash-partition on ProductType. Sort on ProductType, CustiD and TotalAmount.

D. Hash-patrtition on CustID, ProductType and TotalAmount. Sort on CustID, ProductType and TotalAmount.

Correct Answer: A

QUESTION 3

Which two commands start a DataStage job named procRows in a project named DSProject. It also passes the value
200 to the numRows parameter. (Choose two.)

A. dsjob -run -paramfile numRows=200 DSProject procRows

B. dsjob -run -mode normal -param numRows=200 DSProject procRows

C. dsjob -run -mode validate -param numRows=200 DSProject procRows

D. dsjob -run -mode normal -paramfile numRows=200 DSProject procRows
E. dsjob -run -queue HighPriority -param numRows=200 DSProject procRows

Correct Answer: BE
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QUESTION 4

Which job design technique can be used to give unique names to sequential output files that are used in multi-instance
jobs?

A. Use parameters to identify file names.

B. Generate unique file names by using a macro.

C. Use DSJoblinvocationID to generate a unique filename.
D. Use a Transformer stage variable to generate the name.

Correct Answer: A

QUESTION 5

Which method is used to specify when to stop a job because of too many rejected rows with an ODBC Connector?
A. In the Abort when field, select Max

B. In the Abort when field, select Rows

C. In the Abort when field, select Count

D. In the Abort when field, select Amount

Correct Answer: B
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